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alteration
change ‘Foreward’ to ‘Forward’
change ‘Arithmatic’ to ‘Arithmetic’

Delete the [T from under the horizontal bar in théuse rule.
In line 2 of the proof, changérto ‘[0

move left parenthesis after ‘=’

change [l to ‘[

add ‘<’ at end of line

change[' to ‘[

insert ‘<’ between X’ and 'y’

change ‘-A1 B’ to '-A[B’

In exercise 4, change both occurrences of ‘revz’ to ‘rev’
change ‘S'toy’

In the sixth expression, change ‘e’ &

ChangeQ” to Q' (twice)

change ‘Ryj’ to ‘RMyj’

change ‘fi’ to '’



